ERRER FREEEMANE
H30%E
R—2YMOAEFT) <HHEHREAREE(LI>
5 I FRE|FAE(FAE
SRR/ REEE X5 = (|SLEH|| R1E8E) 5188
QORD [Ga | rom) | (380)
, B 12,950( 1,300 2,590] 3,890
AT FB T 12,450| 1,250| 2,490| 3,740
ADHIE B 13,950 1,400 2,790| 4,190
E4H LI :
ok 13,450| 1,350| 2,690| 4,040
, B 8530 850 1,710 2,560
R B ST 8,030 800] 1610 2410
o R g A= ) ) )
2HERE B 9530 950] 1910 2860
E4H LI :
A BT 9,030] 900 1,810 2,710
Sah Dl <SHEEERREED>
1@< DE 8,500 850" 1,700] 2,550
EF
FRE|FAE(FAE
MERFR PR (Bi0%E| 8104|8188
(1&] [ (2%] | [3&]
FEEEEFRREERRR TRANE 1,500 150] 300 450
PRBEEEREHARR? snsanen 1500 150 300[ 450]
PRBERERIEHRAELS RRENRY 1500 150] 300[ 450
258 Rt IS A I AN 5 6,400( 640[ 1,280 1,920
HRIEEME (1) 2,500 250] 500[ 750
HRIEEME (1) 5000 500[ 1,000 1,500
BB RIS ME(EEDOH) 8,000 8oo| 1,600 2400
L Sk DI 2,000 200 400] 600
BREE X R IR ME 6,000( 600 1,200 1,800
EEEEESEINE 3000 300| 600] 900
EERERABN I7LUAME 2,000 200( 400] 600
EERISARIE S ME (1 565RALLE) 5200 520] 1,040 1,560
RASEEENE 2,650 270] 530] 800
B8 - TR P 5 AN (6B -8 - 18B% —228%) 2,100( 210 420] 630
BRI B (2285 -655) 4,200( 420] 840| 1,260
L5 IR (6% K i) 1500 150] 300] 450
ERLFEBEEMEOES+EBGE2EET | 4500 450 900] 1,350
ERLFHEEMEQES+AB)GEIBET | 3800] 380 760| 1,140
A B MBS 1E)/8 3000( 300 600 900
i
B it (EE £ T) 2[El/H 6,000( 600 1,200] 1,800
3ELLE/B | 10,000 1,000( 2,000 3,000
g_\j_)b77;§ﬁ1 (RN ERYNENEEEELLGRL 25,000 2’500 5’000 7’500
?_\T“/’TT%%ﬁZ (EELNBERYNENEZEELTLD 10,000[ 1,000| 2,000{ 3,000
;7)%H§J;AEE 1055 EXH‘T.E%EW(%‘E*D/*@%/ZFV% 12,850 1’290 2’570 3,860
FE-NEBEESRIENE 2,500 250 500[ 750
s 1= CEDE 4,500 450 900| 1,350
HRERAEEME mEsmEmt | 8000 800] 1,600] 2400

EXFER-BBRAEYOFAER TSN DR -2

MOFBE20 AL LEICTH—ERETS5EES

90/10 0~

EXRFER-BBRAEYOFAE TN LS DR -2

MOFIAEOAL LIZH—ERFTH5ES

85/1 0 0~




